DJUSTABLE ROLLER CARRIER
ATTACHED W/ (@) 1/4" x 1/2* 14GA. CENTER

2° 10 BALL STEEL

ROLLER W/5* STEM BOLT & NUT PER BRACKET INGE ATTACHED
W/ G 1747 x 3/ 2 ; — —
B HEX HEAD SCREWS I e
12 GA. GALV. COMMERCIAL 3' 206A STRUTS ATTACHED ,g\ 1 L L
TOP ROLLER BRACKET W/ @ 1/4° x 374 )
ATTACHED V4> 1/4% x HEX HEAD SCREWS AT >\n/:
3/4° HEX HEAD SCREWS EACH CENTER STILE roP SECTIN T0 3E
PER BRACKET i
- MODEL 2400 24GAD DR

MODEL 2000 (20GAJ). TOP
L_YTZICAL THE FIXTURES @ SECTION MAY BE MDDEL 3500 TAPERED REVERSE ANGLE MOUNT REVERSE ANGLE MOUNT CONTINUOUS ANGLE MOUNT.

FULL VIEW FOR DOOR WIDTHS
LP T0 122 ] —1  _MINIMUM 1° OVERLAP
19 GA CENTER SITLES TYPICAL CENTER HINGE, 8 [ OF JAME REQUIRED <TYP.)
MODEL 2400 OR 2000 ssc'nms\ N.T.S. —
 — /
: g : = 19 GA END SITLES
T ) : : 5 MODEL 2400 OR 2000 -
o I ; | R — | | W ———— | 1 \'ms' DIA. BOLT RETAINER
= S L = iSSSS s —_— — 3 x 20 GA. STRUTS

BRACKET MOUNT  ¢1) PER ROLLER (TYP.)

SEE (TABLE 1> DN PAGE 3 FOR
DODR AND SECTION HIEGHT

— @ PER SECTION
OCK DR OPERATOR INTERMEDIATE RAILS
REQUIRED AT MODEL 3500 50;1;)?8
SECTIONS -,
SNAP IN ALUM
ALUMINUM END STILE
WODEL 3500 SECTIONS / GLAZING BEAD
FULL VIEW P
SECTIDN WITH 20-13/16 / / / /
178 DSB GLASS _\; MAX

SEE (TABLE 3> ON PAGE 3 =0
FOR STILE PLACMENTS A
i e AZING FA
' le*-2 1 BOTTOM SECTION 7O BE Nl?rLs Z1
MDDEL 2400 (24GA) DR TS
MODEL 2000 (20GA). BOTTOM
N.TS. SECTION MAY BE MUDEL 3500
FULL VIEW FOR DOOR WIDTHS

14GA. ROLLER HINGES ATTACHED UP TO 1272° REV | DESCRIPTION OF REVSIONS DATE IBY
TO END STILE W/ (6 1/4° x 3/4° 3 GA. BOTTOM
HEX HEAD SCREWS BRACKET ATTACHED W/ _ REVISED NOTE & 9/5/08 |
3¢ 20GA. STRUT (2 1/4° X3/4° HEX
3 20GA. STRUTS ATTACHED W/ HEAD SCREWS B | UPDATED WIATS, TCOTS, ADOED ASCE WPH DETAL |12/6/1 | RR
ATTACHED W/ (2 @) /47 X 3/4° —
1/4° x 3/4' HEX HEX HEAD SCREWS MAX SIZE
HEAD SCREWS AT AT END AND CENTER 16'2 x 20
EACH END STILE STILES -u'b‘\\\
DESIGN LOADS ir' \\‘
AT +19.8 PSF
2 10 BALL STEEL CONT. %'é"#r VINYL @?‘m& o) -22.4 PSF
ROLLER W/5° STEM -
TYPICAL BOTTOM BRACKET
TEST LOADS

N.T.S.
L.Yr'.,sI.CAL END HINGE@ TION A— | VIEW INTERIOR OF GARAGE (1.5 x DESIGN LDADS)
N.T.S.

—=|  MAL WDTH 160" |— '_"ggg 'Egg
CONTINUOUS e
ALUMINUM CENTER STILE VINYL GASKET —atho U S DESIGN LOADS
_\ i‘}%; IR/ seE noTE 2
/ / LASS 1] CLEAR
ANODIZED FINISH RAILS
\ ROSES
I 806316 ALUMINUM THE METHOD OF TESTNG VAS IN SUBSTANTIAL CONFORMANCE WTH SPECIFICATICNS AND NOTES
THE PROCEDURES DESCRIBED IN ASTM E330, ANSI/DASMA 108, 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
L ASTM £ 1886, ASTM E 1995 AND ASTM F588, THE PRESSURES O AL aps %‘.{“’.;‘235 it U Ny 4
SHOWN ON THE DRAWINGS WERE CALCULATED USING ASCE TRANSFERRED FROM THE DOOR
7-98/02/05 WTH THE FOLLOWING PARAMETERS (5 FEET OF DOOR Ry ey iy -4 m"ﬁ MAXIMM OESIG LOADS OF: 165 CARRIAGE COURT VINSTON-SALEW, NC. 27105
ENTER AND END STILES .
FULL VIEW WITH WIDTH IN END ZONE, ROOF SLOPE 10° OR LESS): 3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
. : FASTENED TD RAILS .
SNAP~-IN GLAZING BEA 1/8° DSB GLAS WITH FULL LENGTH tunsdgsrm.n;"ma !&%ﬂ%ﬁ%ﬂ:&gﬁgg MODEL #3500 FULL VIEW
TION B—B (TOP VIEW i,{ul,e'm}r L WIND SPEED (MPH) | 120 | 108 | 103 | 98 94 BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
ool [0 [ ¢l c [0 o] WEBIMEWAENCWRI G [ ow s ] omows
GLAZING NOT AVAILABLE IN WIND-BORNE DEBRIS REGION MEAHREOUESEE!C TR L 25 = i) AND THEIR DESIGN PRESSURES B | ciecpey me| DA /17704 IBC-3516-120-15
ENGRNEER:  THOMAS L SHLMERDME PE. LIC. Koo 0048579 | SHEET 1 OF 3




ITW BUILDEX 1/4°-14
X 374 SELF~TAPPING
SCREWS (TEKS)

DOOR HEIGHT

12 GA. DR 3/16°
/STEEL (SEE BELOW)

o A e e et 2

REVERSE ANGLE MOUNT SHOWN
BRACKET, CONTINUQUS AND TAPERED
ANGLE MOUNT AVAILABLE

12 GA, STEEL FRAMING

232 LBS./SCREW ALLOWABLE LDAD -
6° FROM ENDS AND t&° OC.

REFER TD NOTES: 1, 2 AND S

3/1e” STEEL FRAMING

569 LBS./SCREW ALLOWABLE LDOAD -
6° FROM ENDS AND 24° O.C.

REFER TD NOTES: I, 2 AND 5

DI T TR

VERTICAL LIFT

HIGH LIFT
STANDARD LIFT
——uly——— M

N

1/78° NOM X 1° LONG
FILLET WELD (E60xx

LOW HEADROOM

ELECTRODES MIN.

BRACKET, CONTINUDUS AND
TAPERED ANGLE MOUNT AVAILABLE

STEEL FRAMING 12GA DR BETTER
1590 LBS./IN. ALLOWABLE LOAD -
6" FROM ENDS AND 24° D.C.
REFER TO NDTES: 1, 2, S, 6, 7, 8
AND 9

NOTES:

174* LONG TACK 2000 PSI MIN.

WELD SAME SPACING
AS FILLET WELD

2-5/8" THICK
WaLL MIN,
(1.5 x EMBEDMENT>

CONCRETE

EMBEDMENT

. 3* MIN. EDGE
DISTANCE

SIMPSON STRONG-TIE
3/8'¢ WEDGE-ALL
EXPANSION ANCHOR WITH
7/8'¢ WASHER, 1-3/4°MIN,

CONTINUOUS ANGLE MOUNT SHOWN
BRACKET, REVERSE AND TAPERED ANGLE MOUNT

AVAILABLE

2000 PSI CONCRETE (R GREATER
351 LBS./EXPANSION ANCHOR ALLOWABLE LDAD -

6° FROM ENDS AND 24° 0.C.
REFER TO NOTES: 1, 2, 3, 4 AND 3

1. ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND FLOOR.

2. FIRST (BOTTOM> ANCHOR STARTING AT NO MDRE THAN HALF OF THE MAXIMUM
ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR

OPENING,

3. MIN. EGDE DISTANCE OF 3* REQUIRED.
4, USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER.

S. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED
PROFESSIONAL ENGINEER FOR WIND LDADS IN ADDITION TO DTHER LOADS,

6. MOST GARAGE DDOR TRACK IS GALVANIZED STEEL.

WHEN WELDING GALVANIZED STEEL.

2000 PSI MIN,
CONCRETE

SIMPSON STRONG-TIE
3/8'¢ SLEEVE-ALL
EXPANSION ANCHDR WITH
7/8’¢ WASHER. 1-3/4°MIN,

EMBEDMENT

2-5/8° THICK
WALL MIN.
(1.5 x EMBEDMENT?

REVERSE .ANGLE_MDUNT SHOWN
BRACKET, CONTINUOUS AND TAPERED ANGLE MOUNT
AVAILABLE

2000 PSI_CONCRETE (R GREATER
336_LBS./EXPANSION ANCHOR ALLOWABLE LDAD -

3 MIN. EDGE

— DISTANCE

6" FROM ENDS AND 24° OC.
REFER TO NOTES) 1, 2, 3, 4 AND S

USE ALL NECESSARY PRECAUTIONS

7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER OR INSPECTED BY A
CERTIFIED WELDING INSPECTOR TO VERIFY THE INTEGRITY OF THE WELD.

8, FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE SURFACE.
9, TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT ROTATION OF TRACK

ANGLE

PLICE TRACKS W/
¢4>-20 TRACK SPLICE
BOLTS & NUTS

f=———2" (051 MIN) OR 3° (12 GA.
MIN.)> VERTICAL TRACK

SPACING BETWEEN ANY (2>
TRACK ATTACHMENT POINTS
| NOT 1O EXCEED 28*.

TRIBUTARY AREA PER
ATTACHMENT POINT NOT TO
EXCEED 24’

TRACK ATTACHMENT CAN BE
BRACKET MOUNT, CONTINUGUS
OR REVERSE ANGLE MOUNT.
ALL TRACK BRACKETS AND
TRACK CLIPS ARE ATTACHED
TO TRACK WITH <2> RIVETS
DR <1> 174"-20 BOLT & NUT

SEE (TABLE 4) ON PAGE 3 FOR

ATTACHMENT LOCATIONS

AVAILABLE TRACK CONFIGURATIONS
N.T.S.

WOOD JAMB ATTACHMENT T0 STRUCTURE

2% & VERTICAL JAMB ATTACHMENT TO 2.000 PSl CONCRETE
HLTI KWIK BOLT 3/B° X 47 STARTING 8° FROM ENDS THEN 24° O.C. (2 1/2° EMBEDMENT)
HLTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 67 FROM ENDS THEN 247 O.C. (1 1/4'

RIK R
5/|o'x3'ucsmsrmo'mummz4 0.C. (1 1/2° EMBEDMENT)

EMBEDMENT)
W/RAMSET REDHEAD (TRU—BOLT) 3/8" X 4" STARTING 6° FROM ENDS THEN 24° 0.0, (2 1/2° EMBEDMENT)

SIMPSON 1 ;x;’mmmmo’rmmus:mwrm(a‘wm
AT 18" 0. (1 1/2°

HAT 1/4° X 2-3/4° KWK—CON B4+ SCREWS STARTING 8" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
AT 18° 0.C. (1 1,/4" EMBEDMENT)

{OR, USE FASTENERS FOR

SLAGS AND BOLTS CAN BE COUNTERSUNK
SPREPARATION OF WQOD JAMBS BY QTHERS

: ps AIT)
Hu.nstmmsjrxz-.vrsrm O'FROMEQSWZ4 oc (1 1/4° EMBEDMENT)
FOR HOLLOW C—§0 BLOCK)

TO PROMIDE A FLUSH MOUNTING SURFACE.

E STRUCTURE STRUCTURE STRUCTURE STRUCTURE
) L) 1 2 1
l <] =] <k i
|| || | |
1727 HIN 2-3/4" MIN 1=1/2" MIN 4+
28 JMNB
TP, 3 MIN

SYP OR SP?
(NO, 2 OR B
/EXS woap JAMB (TYP)

5/16° x 1 5/8° LAG
SCREW (1> PER JAMB
BRACKET (1-1/2°

EMBEDMENT MINIMUM)

BRACKET MOUNT SHOWN
BRACKET, CONTINUOUS AND TAPERED ANGLE MOUNT
AVAILABLE

2x6 SYP LUMBER CND. 2 MIND

614 LBS./LLAG SCREW ALLOWABLE LOAD - & FROM
ENDS AND 24 O.C,

SPACING ON TRACK ATTACHMENT CHART
ACCEPTABLE AS WELL.

REFER TO NOTES: 1, 2, AND S

SEE: WDOD JAMB ATTACHMENT TO STRUCTURE

2x6 SPF LUMBER (NO. g MIND

410 LBS./LAG SCREW ALLOWABLE LOAD — & FROM
ENDS AND 24° D.C.

SPACING ON TRACK ATTACHMENT CHART
ACCEPTABLE AS WELL.

REFER TO NOTES: 1, 2. AND 5

SEEr WwOOD JAMB ATTACHMENT TO STRUCTURE

REV | DESCRPION OF REVSIONS DA [BY
REVSED NOTE 6
B | UPOATED WAATS, TODTS, ADDED ASCE WPH DETAL [12/6/11 | RIR

MAX SIZE
16'2 x 20°

DESIGN LOADS
+19.8 PSF
—22.4 PSF

TEST LOADS
(1.5 x LDADS)
+28.7 PSF
-33.6 PSF

3
.,

o 1 9
>
Wicey s
S ‘3“3%“_,_.9?“’

165 CARRIAGE COURT WINSTDWM-SALEM, NC. 27105

MODEL #3500 FULL VIEW

S| DR BY 0L | DAE 11604 DRAMNG NUMBER
B cexmar ac| DA 11/17/04 IBC-3516-120-15
ENGNEER: THOMAS L. SHLUERDINE PE. LIC. No. 0048579 | SHEET 2 OF 3




TABLE 1 *TABLE 2 TABLE 3 TABLE 4
. Max Desian Loads . Center Stile Locations DOOR TRACK ATTACHMENT *SPLICE
Door 21" 21" 24" 24" Section Allovgved Section (Measured from Left Edge) HEIGHT[A| B | C| D] E] F | G H [ J )
Height| Bottom | Intermediate | Bottom | Intermediate = 66" [10%)38") 68" 10"
oAl [ g Width | Positive | Negitive | | Width | 1st 2st 3rd 7__{io"| 38| &8 76"
v r (ft) (PSF) (PSF) (ft) (ln) (ln) (ln) 7' 6" ‘4| 28" [I52%| 76" 82"
s - g |10°| 34" | 58" | 82" 88"
;'g" % % 94 25.1 28.4 9 4 36" 76" 8'6” | 4" | 28] 62Y] 76" 94"
T 4 9'6 24.8 28.1 96 a7 77" 9 .10"‘ 34" | 58" | 82" 100"
EiL ot Al 0 7 T e oSl i o5
ot Available : G o - : "| 34" | 58" | 82" | 106" i
_‘-_g.—g.. 3 y - 910] 242 27.4 910) 39 79 10'6" | 4" | 287|527 | 76" |00 118"
9" Z z 10' 0 23.9 27.0 10° 0 40" 80" 11" [10"] 34" ] 58" | 82" [106" 124"
73 K 7 1 10' 2 23.6 26.7 10' 2 41" 81" 11°6" | 4" | 287| 527] 76" [100°| 124" 130"
9'6" 2 7 : P T 12 [10"] 34" | 58" | 82" |106"| 130" 136"
1l 1 1 % 10, 4 BN 267 10,2 :2,, - 82,, 12'6" [ 4" ] 28"} 62" | 76" [100"[ 124" 142"
{?! " ; o] 4 10' 6 230 26.0 10. 3" 83 13! 10-- 34-1 530‘ 82" 106" 130u 143"
_”:'E" : 5|:~zot Available 10' 8 22.7 25.7 10' 8 44 84" 13'6" | 4" | 287} 52" .76" [100"[124"] 148" 154"
06" 10' 101 225 754 10' 10 | 45" 85" 14 |10"[ 34" | 58" | 82" | 106"| 130"] 154" 160"
10°9° 5 i 11°0 555 551 1170 46; 86" 146" | 4"| 28" | 52" [ 767 [100°|124°[148" 166"
100" : 1 i i T 11 3 7" 87" 15°__[10"] 34" | 58" | 82" [106"|130"[154"| 172"
M : 2 . > - ; = - 15 6" | 4" | 28" 52| 767 |100°|124"|148%| 172" 178"
il . 3 1174 | 217 | 246 Taid 48 88 16'_|10"] 34| 58" | 82" | 106°[130°[154"] 178" 184"
2 L 4 116 | 215 24.3 11'6 | 49" 89" 1676" | 4" [287| 62" [ 76" |100°|124"| 1487 172" 190"
BVEL - ] 5 1970 265 30.0 1270 | 36" 7om 108" 17 __[10°| 34" | 58" | 82" [106"|130"| 154"] 178" 196"
- T . T = 17 6" | 4" | 28"] 652" | 76" [100"|124"| 148" 172" 196" 202"
ﬂ:g:: g 13421 26'2 29.6 g i* _37“ 73,, 109" 18'_[10"| 34" | 58" | 82" |106"[130| 154" 178" [202" 208"
e ; = ggg 29.2 - gg ;g H? 1867 | 47| 287 527 [ 7671007 [ 1247|1487 A7z 296" | 214"
T - ' . 28.8 ' 6* " " ! 19'  [10"[ 34"] 58" | 82" [106"[130"[154"| 178" | 202" 220"
13.3" 3 Z’ 12' 8 25.1 28.4 12' 8* 40" 76" 112" 196" | 4" | 28" | 52" | 76" [100%|124°]148"] 172" [1967[2207| 226"
139" 1 = 12101 248 26 1 12101 a1" 77 113" 20° 10| 34" | 58" | 82" | 106" 130"|154"| 178" |202"[226"| 232"
14'0" 6 13" 0 245 27.7 130 36" 78" 120" *SPLICE LOCATION FOR STANDARD LIFT. WILL VARY FOR OTHER LIFT
140" 1 7 35 3 TV 57 4 13 2 37" 79" 121" APPLICATIONS
BEVS £ ‘ 1374 | 239 | 27.0 1374 | 38" | 80" | 122 - - e "
2. 3 - 3 ) A | REVISED MOTE 6 9 BHG
14'9" i 2 13' 6 23.6 26.7 13'6 38" 81" 123" B | UPDATED WIATS, TCOTS, ADDED ASCE WPH DETAL |12/8/11 |RIR
_} ;f: % ] 2 138 23.3 26.4 13' 8 40" 82" 124" —_—
15'-,5" g 1 % 13' 10 23.0 26.0 13' 10 41" 83" 125" 162 x 20'
519! 1 14' 0 22.7 25.7 s 14'0 42" 84" 126" DESIGN LOADS i \
1597 |~ 7 é 142 | 225 25.4 142 | 43" | 85" 127" Yy g ZUEAAT
LN A = 5 - —-22. SF ﬁ.“]._.'
ﬁ.g:. 5 . z 144 [ 222 [ 254 1474 | 44" | 86" 128"
C16'3" 7 3 T 14’ 6 22.0 24.8 14' 6 45" 87" 129" s ooy L)
166" 6 i 2 1478 | 217 | 246 1478 | 46" | 88" | 130" +20.7 PSF
-}—gg 3 i _41 14 10| 21.5 243 14" 10| 47" 89" 131" '
B : : TE 15700 120.20 [ 1240 1570 | 48" | 90" 13230
_]1!6" 5 4 6 15' 2 21 0 238 1 5' 2 _49" 91 " 133"
5] : :: 1 7 16' 0 19.9 22.5 16' 0 48" 06" 144"
4%,3,, . i 16' 2 19.8 22.4 16" 2 49" 97" 145"
18'6" 6 1 *CONTACT AMARR'S ENGINEERING *SPECIAL STILE PLACEMENT REQUIRED - >
18707 73 . DEPARTMENT FOR THE FOLLOWING CELE YO EK
K 90" 4 ¢ 5 DOOR WIDTHS; 11'8", 11'10", 165 CARRIAGE CDURT WINSTON-SALEM, NC. 27105
o3 3 - 3 15'4",15'6",15'8" AND 15'10"
10767 5 : 2 MODEL #3500 FULL VIEW
9:—9:: 1 8 SIE| DRAWBY  DL)| ONE 111604 DRAMNG NABER
— 2 B| cecxmer ame| paE 0/ IBC-3516-120-15
ENONEER:  THOMAS L. SHLMERDINE P.E. LIC. Mo. 0048579 | SHEET 3 OF 3




